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Attempt any five questions.

Make suitable assumptions wherever necessary.
Figures to the right indicate full marks.

Each question carry equal marks (14 marks)

Explain the following terms in brief:

(1)Surge tower  (2) Drafttube  (3) Economizer  (4) Air Pre-heater

(5) Spillways  (6) Moderator  (7) Control rod

(i) Compare Unit Transformer and Station Transformer.

(if) A cost of equipment of power plant is Rs 1,00,000 and its useful life is
20years. The scrap value of equipment is Rs. 20,000 and interest rate is 12%.

Find annual depreciation cost by (a) Straight line Method (b) Sinking fund method

What is FACTS? Explain the advantages of FACTS.

Define the terms: (1) Load Factor (2) Demand factor (3) Diversity factor (4)Plant

capacity factor (5) Spinning Reserve (6) Hot reserve (7) Cold reserve

OR
Explain the need of Base load and Peak load power station and discuss their
characterstics

Classify the cables and explain Major requirements of underground cables.

Explain the advantages of interconnected system. Two power stations A and B of

capacity 30MW, 33KV are connected through reactor. The voltage drop in
interconnector at 30 MW unity power factor is 30%. The local load on station
and B at unity power factor is 20 MW and 40 MW respectively. Calculate the
phase difference between two power stations.

OR
Explain with line diagram necessity of PLCC in an interconnected system
A generating station supplies power to the four substations each having max

demand of 12,15,10 & 20MW resply. The diversity factor between the substations
& power station is 1.2. If the connected load to the power station is 60MW and the
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annual load factor is 40% .Calculate (1) Max. Demand on the power station (2)

No. of units generated per annum (3) Avg. Demand (4)Demand factor (5)
Connected load factor

What is infinite busbar? State the effect of change in excitation on the

performance of alternator connected with infinite busbar.
Explain procedure for the purchase of spares and consumables.
OR
Draw the connection diagrams and vector diagrams for the following types of
transformer connections : (i) Yd11 (ii)Dy11 (iii) DdO (iv)Dz6
.List various records which are maintained in thermal power stations.

Explain the organization structure of load dispatch centre.

What is Permit to Work? Which method is used for maintenance of overhead line?

OR
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Q.5 (&) Explain the sources of radioactivity and effect of radiation.

(b)  Explain the acid rain and green house effect.
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